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In a competitive environment, a firm can survive only if it is efficient companies
all around world, including many large multinationals, have been cutting down the
size of their human resources as one of the means of achieving cost efficiency. The
problem of over-manning is very severe in the developing countries. Unless
these firms get rid of the surplus labour, they can hardly be competitive and
successful. That means, the liberalisation can succeed only if the economy
grows very fast to absorb the displaced labour and the new addition to the labour

force.




